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Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 190889390
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 19088916342 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s the device used to measure the power and speed of the wind?

1. Avometer
2. Anemometer
Atrometer

Aviontimeter

B

Options:

19088965261. 1
19088965262. 2
19088965263. 3
19088965264. 4

Question Number : 2 Question Id : 19088916343 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Optical fibre used the concept of which of the following?

1. Reflection
2. Retraction
3. Total internal reflection
4. Total internal refraction
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Options:

19088965265. 1
19088965266. 2
19088965267. 3

19088965268. 4

Question Number : 3 Question Id : 19088916344 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Yellow vein mosaic 1s the viral disease of which of the following plants?
Ladyfinger
Papaya

Sugarcane
Banana

| S

=

Options:

19088965269. 1
19088965270. 2
19088965271. 3

19088965272. 4

Question Number : 4 Question Id : 19088916345 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following organ(s) 1s affected by Mumps disease?

Entire body
Skin

Eye

Parotid

e o b

Options:

19088965273. 1
19088965274. 2
19088965275. 3
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19088965276. 4

Question Number : 5 Question Id : 19088916346 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the chemical name of vitamin B,?

Riboflavin
Calciferol
Pyridoxin
Niacin

| B

)

-

Options:

19088965277. 1
19088965278. 2
19088965279. 3

19088965280. 4

Question Number : 6 Question Id : 19088916347 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s not the input unit of the computer?

Mouse
Keyboard
Screen
Scanner

| S

)

Options:

19088965281. 1
19088965282. 2
19088965283. 3
19088965284. 4

Question Number : 7 Question Id : 19088916348 Question Type : MCQ Option Shuffling : No Is
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Correct Marks : 4 Wrong Marks : 1

The digital computer operates on which of the following principle?

1. Measurement

2. Calculation

3. Logical

4. Electrification
Options:

19088965285. 1

19088965286. 2

19088965287. 3

19088965288. 4

Question Number : 8 Question Id : 19088916349 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The non-cooperation movement of Gandhiji was launched in which of the following year?

1
2
3.
4

1915
1922
1920
1930

Options:

19088965289. 1

19088965290. 2

19088965291. 3

19088965292. 4

Question Number : 9 Question Id : 19088916350 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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An Islamic revivalist movement named Wahabi movement was founded by which of the
following person?

1. Sian Saheb

2. Syed Ahmed

3. Haji Shanat-Allah
4. DaduMian

Options:

19088965293. 1
19088965294. 2
19088965295. 3

19088965296. 4

Question Number : 10 Question Id : 19088916351 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following 1s considered as the “*Magna Carta of England Education in India™?

Hunter education commission
Lord Macaulay’'s Minute
Wood's Despatch

Thomas Babington Macaulay

LT N

:.[_...

Options:

19088965297. 1
19088965298. 2
19088965299. 3
19088965300. 4

Question Number : 11 Question Id : 19088916352 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following nutrient does not come under the ambit of ‘macro-nutrients in Soil

Health Card?
1. Nitrogen
2. Zmc
3. Phosphorous
4. Potassium
Options:

19088965301. 1
19088965302. 2
19088965303. 3

19088965304. 4

Question Number : 12 Question Id : 19088916353 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cole crops. root crops and legumes come under the ambit of which of the following?
I.  Olenculture

2. Pomology

3.  Viticulture

4. Arboriculture
Options:

19088965305. 1
19088965306. 2
19088965307. 3
19088965308. 4

Question Number : 13 Question Id : 19088916354 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The study of ndividual trees. shrubs, vines, and perennial woody plants 1s known as which of the
following?
I Turf management
2. Arboriculture
3. Pomology
4, Viticulture
Options:
19088965309. 1
19088965310. 2
19088965311. 3

19088965312. 4

Question Number : 14 Question Id : 19088916355 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The mmistry 1s implementing MIDH (Mission for Integrated Development of Horticulture) with
effect from which of the following year?
1. 2012-13
2 2019-20
3. 2015-16
4 2014-15
Options:
19088965313. 1
19088965314. 2
19088965315. 3

19088965316. 4

Question Number : 15 Question Id : 19088916356 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The interaction of soils with living things. particularly plants are well known as which of the
following?

1. Edaphology
2. Pedology

3. Soil zoology
4. Pedogenesis

Options:

19088965317. 1
19088965318. 2
19088965319. 3

19088965320. 4

Question Number : 16 Question Id : 19088916357 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following systems has also incorporated social aspects mn itself?

1. Landscaping

% Permaculture

5 4 Horticulture

4, Forest gardening
Options:

19088965321. 1
19088965322. 2
19088965323. 3

19088965324. 4

Question Number : 17 Question Id : 19088916358 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What do you term the phenomenon whereby the specific gene 1s added to the plant for producing
a desirable phenotype?

Genetic manipulation
Genetic recombination
Genetic modification
Genetic hybridisation

e S

Options:

19088965325. 1
19088965326. 2
19088965327. 3

19088965328. 4

Question Number : 18 Question Id : 19088916359 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 1s the focus of the participatory plant breeding program?

1. Scientists

2. Plants

3. Environment
4. Farmers

Options:

19088965329. 1
19088965330. 2
19088965331. 3
19088965332. 4

Question Number : 19 Question Id : 19088916360 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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How do you term the form of agriculture. in which. industrialized production of crops and
animal products takes place?

1. Manutactured agriculture
2. Modern agriculture

3. Industrial agriculture

4. Mechanistic agriculture

Options:

19088965333. 1
19088965334. 2
19088965335. 3
19088965336. 4

Question Number : 20 Question Id : 19088916361 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Micro-urigation fund of Rs. 5.000 crore has been placed with which of the following
organization?

NABARD
IDBI

SBI

RRBs

e Lo b

Options:

19088965337. 1
19088965338. 2
19088965339. 3

19088965340. 4

Part B Core : Agricultural Economics & Agri-Business

Ma nagem ent
SectionId: 190889351
Section Number : 2
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Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Online
Mandatory
50

50

200

Yes

1
190889391

Yes

Question Number : 21 Question Id : 19088916362 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In case of Giffen goods. the demand curve-

1. Has negative slope
2. Has positive slope
3. Is parallel to X-axis
4. TIs parallel to Y-axis

Options:

19088965341. 1
19088965342. 2
19088965343. 3

19088965344. 4

Question Number : 22 Question Id : 19088916363 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following 15 an ternal/ personal. non-material. and non-transferable good?

1. Char
2. Goodwill of business

3. Conduct certificate of a student
4. Skill of a doctor

Options:

19088965345. 1
19088965346. 2
19088965347. 3
19088965348. 4

Question Number : 23 Question Id : 19088916364 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: MSP payment to farmers for paddy has mereased by 2.4 times during the last five
years.

Statement II: MSP payment to farmers for wheat has decreased by 1.7 times during the last five
years.

In light of the above statements, choose the correct answer from the options given below

1. Only statement I 1s correct
2. Both statement I and II are correct
3. Only statement IT 1s correct
4. None of the statements are correct

Options:
190889653489. 1
19088965350. 2

19088965351. 3
19088965352. 4

Question Number : 24 Question Id : 19088916365 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following statements as per the economic survey 2020-21:

Statement I: The share of agriculture and allied sectors mn GVA (Gross Value Added) of the
country at current prices 1s 17.8 percent for the year 2019-20.

Statement II: The share of agriculture and allied sectors in GVA of the nation has mcreased
from 17.7 percent in 2014-15,

In light of the above statements, choose the correct answer from the options given below

Only statement I

Only statement II

Both statement I and statement II
Neither Statement I nor Statement I1

= o o =

Options:

19088965353. 1
19088965354. 2
19088965355. 3
19088965356. 4

Question Number : 25 Question Id : 19088916366 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As per the World Trade Agreement. every nation should treat other member nations in a friendly
manner regarding trade issues. This provision is termed as:

1. National treatment

2. Most Favoured Nation status

3. Multilateral trade agreement

4. Special and Differential treatment

Options:

19088965357. 1
19088965358. 2
19088965359. 3
19088965360. 4
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Question Number : 26 Question Id : 19088916367 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following economies, Capitalism 1s in existence?

1. India
2. China
3. Russia
4. USA
Options:

19088965361. 1
19088965362. 2
19088965363. 3
19088965364. 4

Question Number : 27 Question Id : 19088916368 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the following statements with respect to public finance:
L. It 1s concerned with the mcome of public authorities and with the adjustment of one to another.

II. It 1s concerned with the expenditure of public authorities and with the adjustment of one to
another.

II1. It 1s concerned with the income as well as the expenditure of public authorities and with the
adjustment one to another

IV. It 1s the study of the effects of the budget on the economy.
Which of the above statement(s) 1s correct?

Only statement 1

Statement I and IT only

Statement III and IV only
Statement I, IIT & IV

| =1

o Lo

Options:

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



19088965365. 1
19088965366. 2
19088965367. 3

19088965368. 4

Question Number : 28 Question Id : 19088916369 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who announced the launch of Rashtriva Krish1 Vikas Yojana?

1. Narendra Modi

2. Dr. Manmohan Singh

3. Atal Bihar1 Vajpayee

4. 1. K. Gural
Options:

19088965369. 1
19088965370. 2
19088965371. 3

19088965372. 4

Question Number : 29 Question Id : 19088916370 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Non-liquidating loans are also known as

1. Self-liquidating loans

2. Open loans

3. Partially-hiquidating loans
4. Unsecured loans

Options:

19088965373. 1
19088965374. 2
19088965375. 3
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19088965376. 4

Question Number : 30 Question Id : 19088916371 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Single Window System was introduced through

PACS
PLDBS
LAMPS
DCCB

e oo o =

Options:

19088965377. 1
19088965378. 2
19088965379. 3

19088965380. 4

Question Number : 31 Question Id : 19088916372 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

NABARD came into existence i

1972
1982
1987
1990

a—

| )

W

-

Options:

19088965381. 1
19088965382. 2
19088965383. 3

19088965384. 4

Question Number : 32 Question Id : 19088916373 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Hedging 1s a tool to control

1. Production risk

2. Technological risk

3. Market risk

4. Institutional risk
Options:

19088965385. 1
19088965386. 2
19088965387. 3
19088965388. 4

Question Number : 33 Question Id : 19088916374 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Extent of indebtedness in farm business 1s reflected by

1. Acid test ratio

2. Working ratio

3. Equity value ratio

4. Leverage ratio
Options:
19088965389. 1
19088965390. 2
19088965391. 3

19088965392. 4

Question Number : 34 Question Id : 19088916375 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Choose correct order in project phase cycle

Identification. Appraisal. Formulation. Implementation, Monitoring. Evaluation
Identification. Appraisal. Formulation. Evaluation, Implementation. Monitoring
Identification. Evaluation. Formulation. Appraisal. Implementation. Monitoring
Identification. Formulation. Apprasal. Implementation, Monitoring. Evaluation

| S ]

- i

Options:

19088965393. 1
19088965394. 2
19088965395. 3

19088965396. 4

Question Number : 35 Question Id : 19088916376 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 1s NOT the variant of cooperative farming society?

1. Cooperative Collective Farming Society

2. Cooperative Joint Farmung Society

3. Collective Farming Society

4. Cooperative Better Farming Society
Options:

19088965397. 1
19088965398. 2
19088965399. 3

19088965400. 4

Question Number : 36 Question Id : 19088916377 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The principles of “Voluntary Association’ and Democratic Management” are the guidelines for

Socialism
Cooperation
Capitalism
Trade Unionism

e L D

Options:

19088965401. 1
19088965402. 2
19088965403. 3

19088965404. 4

Question Number : 37 Question Id : 19088916378 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s NOT a measure of handling risk and uncertainty in agriculture?

1. Diversification

2. Contract Farming

3. Specialization

4. Insurance
Options:

19088965405. 1
19088965406. 2
19088965407. 3

19088965408. 4

Question Number : 38 Question Id : 19088916379 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Student 't' test was formulated by

1. William Sealy Gosset

2. Carl Friedrick Gauss

3. Durbin Watson

4. Colonel Frederic Gosset
Options:

19088965409. 1
19088965410. 2
19088965411. 3

19088965412. 4

Question Number : 39 Question Id : 19088916380 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When was the Essential Commodities (Amendment) Act. 2020 First enacted?

April 1965
April 1970
April 1983
April 1955

b et

= o

Options:

19088965413. 1
19088965414. 2
19088965415. 3

19088965416. 4

Question Number : 40 Question Id : 19088916381 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What does a multiple linear regression analysis examine?

1. The relationship between more than one dependent and only one independent variable
The relationship between one or more than one dependent and only one independent
variable

3. The relationship between one dependent and one or more than one ndependent variable
4. The relationship between more than one mdependent variable

|

Options:

19088965417. 1
19088965418. 2
19088965419. 3

19088965420. 4

Question Number : 41 Question Id : 19088916382 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Conformance of any product or services to the standard 1s called

1. Quantity
2. Quality
3. Brand

4. Amount

Options:
19088965421. 1
19088965422. 2

19088965423. 3
19088965424. 4

Question Number : 42 Question Id : 19088916383 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Speculators in the futures market

1. Cause confusion in the market
2. Make a profit if prices increase
3. Accept the price risk the hedgers are seeking to avoid
4. Should not allowed
Options:

19088965425. 1
19088965426. 2
19088965427. 3

19088965428. 4

Question Number : 43 Question Id : 19088916384 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the price of good mncreases while quantity of good exchanged on markets also mereases, the
most likely reason 1s -

a decrease 1n demand
an mcrease 1 demand
a decrease m supply
an increase in supply

| S

Bl

Options:

19088965429. 1
19088965430. 2
19088965431. 3
19088965432. 4

Question Number : 44 Question Id : 19088916385 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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If a firm's marginal revenue 1s greater than its marginal cost than the firm should

1. increase output to increase profit

2. keep output the same

3. decrease output to increase profit

4. collect additional information to take decision
Options:

19088965433. 1
19088965434. 2
19088965435. 3
19088965436. 4

Question Number : 45 Question Id : 19088916386 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the consumer income declines. then the demand for

1. substitute good will increase
2. complementary goods will increase
3. ferior goods will increase
4. normal goods will increase
Options:
19088965437. 1
19088965438. 2
19088965439. 3

19088965440. 4

Question Number : 46 Question Id : 19088916387 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Caveat emptor means

1. Let the buyer inform
2. Let the seller inform
Let the buyer beware
4. Let the seller beware

taJ

Options:

19088965441. 1
19088965442. 2
19088965443. 3

19088965444. 4

Question Number : 47 Question Id : 19088916388 Question Type

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s/are true with respect to eNAM?

A. It enables sale of commodities directly from the farmers’ field
B. It creates a network of the existing APMC mandis

C. It provides a bigger market to the farmers

D. It helps in removing traders from the market

Choose the correct answer from the options below.

1. OnlyB

2. OnlyD

3. OnlyBandC

4. Only AandD
Options:

19088965445. 1
19088965446. 2
19088965447. 3
19088965448. 4

: MCQ Option Shuffling : No
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Question Number : 48 Question Id : 19088916389 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following can be considered a primary activity i the value chain process?

Procurement

Human resource management
Technology development
Inbound logistics

o —

LIS

e

Options:

19088965449. 1
19088965450. 2
19088965451. 3
19088965452. 4

Question Number : 49 Question Id : 19088916390 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Gen Y are the people borm between

1. 1925-1945

2. 1946-1964

3. 1964-1978

4. 1977-1994
Options:

19088965453. 1
19088965454. 2
19088965455. 3
19088965456. 4

Question Number : 50 Question Id : 19088916391 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following techniques consider time value of money?
A. Net Present Value (NPV)

B. Internal Rate of Retumn (IRR)

C. Payback Period (PB)

D. Accounting Rate of Return (ARR)

Choose the correct answer from the options below.

1. Only A

2. OnlyB

3. OnlyAandB

4. OnlyA.BandD
Options:
19088965457. 1
19088965458. 2
19088965459. 3

19088965460. 4

Question Number : 51 Question Id : 19088916392 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Current assets mclude

A. Cash

B. Short-term securities

C. Accounts recervable

D. Inventory

Choose the correct answer from the options below.

1. Only A

2. OnlyAandD

3. OnlyA,CandD
4 A.B.CandD

Options:
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19088965461. 1
19088965462. 2
19088965463. 3

19088965464. 4

Question Number : 52 Question Id : 19088916393 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The financial statement which contains mnformation about a firm’s assets, liabilities and equity at
a particular pont of time 1s.

1. Profit & Loss statement
.

. Balance sheet
3. Funds flow statement
4. Cash flow statement

Options:

19088965465. 1
19088965466. 2
19088965467. 3

19088965468. 4

Question Number : 53 Question Id : 19088916394 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The process of familiarizing the new employees to the organization rules and regulations is
known as.

1. Placement
2. Induction
3. Recruitment
4. Selection

Options:
19088965469. 1
19088965470. 2
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19088965471. 3

19088965472. 4

Question Number : 54 Question Id : 19088916395 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As a manager, one of Vivek’s duties 1s to present awards to outstanding employees within his
department. Which Mintzberg managerial role 15 Vivek performing when he does this?

Leadership role
Liaison role
Monitor role
Figurehead role

e

el

Options:

19088965473. 1
19088965474. 2
19088965475. 3

19088965476. 4

Question Number : 55 Question Id : 19088916396 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Authornity. discipline. unity of command. and unity of direction are

1. Principles of the human relations movement

2. Taylor's four principles of management

3. Elements of Weber's ideal bureaucratic structure

4. Four of Fayol's fourteen principles of management
Options:

19088965477. 1
19088965478. 2
19088965479. 3

19088965480. 4
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Question Number : 56 Question Id : 19088916397 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In which model of operations research some or all variables are random?

1. Physical

2. Probabilistic

3. Iconic

4. Deterministic
Options:

19088965481. 1
19088965482. 2
19088965483. 3

19088965484. 4

Question Number : 57 Question Id : 19088916398 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following method of finding mitial basic feasible solution for transportation
problems, the difference between two least costs for each column and row is considered?

. Row Minima Method
. Least Cost Method

1
2
3. Vogel's Approximation Method
4. North West Corner Method

Options:

19088965485. 1

19088965486. 2

19088965487. 3

19088965488. 4

Question Number : 58 Question Id : 19088916399 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which of the following terms reflects Japanese view of continuous improvement ?

1. Six-Sigma
2. Iidoka

3. Poka-Yoke
4. Kaizen
Options:
19088965489. 1
19088965490. 2
19088965491. 3

19088965492. 4

Question Number : 59 Question Id : 19088916400 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The time taken between 1ssuing replenishment orders and recerving the matenal i stores 15

1. Lead time

2. Reorder time

3. Idle time

4. Cycle time
Options:
19088965493. 1
19088965494, 2
19088965495. 3

19088965496. 4

Question Number : 60 Question Id : 19088916401 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
collegedu nia
° =] India’s largest Student Review Platform

el



The standard deviationof 7. 7. 7. 7. 7. 7 will be

-7

|

q

0

4. Data mnadequate. Can not be calculated

LY

Options:

19088965497. 1
19088965498. 2
19088965499. 3
19088965500. 4

Question Number : 61 Question Id : 19088916402 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s correct in a positively skewed distribution?

1. Mean > Median > Mode
2. Mean < Median < Mode
3. Mean = Median = Mode
4. Mode < Mean < Median

Options:

19088965501. 1
19088965502. 2
19088965503. 3

19088965504. 4

Question Number : 62 Question Id : 19088916403 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The concept of elasticity of demand was developed by

1. Adam Smith

2. Daniel Kahneman
3. Milton Friedman
4. Alfred Marshall

Options:

19088965505. 1
19088965506. 2
19088965507. 3

19088965508. 4

Question Number : 63 Question Id : 19088916404 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A group of firms acting in unison in market 1s called-

1. Monopoly

2. Cartel

3. Perfect Market Competition

4. Perfect Free Market
Options:

19088965509. 1
19088965510. 2
19088965511. 3
19088965512. 4

Question Number : 64 Question Id : 19088916405 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A good for which an mcrease in the price raises the quantity demanded 1s known as-

Giffen Goods
White Goods
Durable Goods
Non-Durable Goods

| S .

e

Options:

19088965513. 1
19088965514. 2
19088965515. 3
19088965516. 4

Question Number : 65 Question Id : 19088916406 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Due to increase in BoP deficit, which of the following is likely to increase?

Forex reserves
Internal debt of the Govt.
External debt

4. Budgetary deficit

ad b =

Options:

19088965517. 1
19088965518. 2
19088965519. 3
19088965520. 4

Question Number : 66 Question Id : 19088916407 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Depreciation of domestic currency is helpful for

Importers only

Exporters only

Both Importers and Exporters
Neither Importers nor Exporters

s b =

o

Options:

19088965521. 1
19088965522. 2
19088965523. 3

19088965524. 4

Question Number : 67 Question Id : 19088916408 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A most successful example of how exports can transform an underdeveloped nation
into one of the high-income countries, is-

. Argentina

. Brazil
Indonesia

. South Korea

e Lo 2

Options:

19088965525. 1
19088965526. 2
19088965527. 3

19088965528. 4

Question Number : 68 Question Id : 19088916409 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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When a company is confronted with significant industry change that mandates radical
revision of its strategic course, the company is said to have encountered

1. Alearning and growth perspective
2. A strategic inflection point
3. A strategic roadblock
4. Anew strategic opportunity
Options:
19088965529. 1
19088965530. 2
19088965531. 3

19088965532. 4

Question Number : 69 Question Id : 19088916410 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Project management is ideally suited for a business environment requiring all of the
following except

1. Accountability
2. Flexibility
3. Innovation
4. Repeatability

Options:

19088965533. 1
19088965534. 2
19088965535. 3
19088965536. 4

Question Number : 70 Question Id : 19088916411 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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‘Kaizen’ one of the agile principles where teams reflect, learn, and adapt to change

literally means:

1. Focus on customer value
2. Experimentation and adaptation
3. Self-organization
4. Change for the better
Options:
19088965537. 1
19088965538. 2
19088965539. 3

19088965540. 4

Part C : Agricultural Economics

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

190889352
3

Online
Mandatory
50

50

200

Yes

1
190889392

Yes

Question Number : 71 Question Id : 19088916412 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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What 1s the shape of the production possibility curve?

1. Convex to origin

2. Concave to origin

3. Positive slope

4. Negative slope
Options:

19088965541. 1
19088965542. 2
19088965543. 3

19088965544. 4

Question Number : 72 Question Id : 19088916413 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In a perfect competition. restrictions on entry mto an industry -

1. Exist always

2. Vary with respect to time and location
3. Do not exist at all

4. Apply to capital but not to labour

Options:

19088965545. 1
19088965546. 2
19088965547. 3

19088965548. 4

Question Number : 73 Question Id : 19088916414 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Law of demand (for a rational consumer) implies that quantity demanded -

1. 1sinversely related to the price of the product

2. 1s directly related to the price of the product

3. 1s independent of the price of the product.

4. has no fixed relation with the price of the product
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Options:

19088965549. 1
19088965550. 2
19088965551. 3

19088965552. 4

Question Number : 74 Question Id : 19088916415 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s an important non-economic factor of economic growth?

Market si1ze

Foreign trade

Social and ethical values
Capital formation

Ju Lo b =

Options:

19088965553. 1
19088965554. 2
19088965555. 3
19088965556. 4

Question Number : 75 Question Id : 19088916416 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IllCl'Eﬂ":ill_E returns to a scale occurs on account of:

1. Non- specialisation of the inputs/ factors
2. Diwvisibility of the mputs/ factors

3. Product differentiation

4. Invisibility of the mputs/ factors

Options:

19088965557. 1
19088965558. 2
19088965559. 3
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19088965560. 4

Question Number : 76 Question Id : 19088916417 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What 15 the shape of the production function if the elasticity of substitution 1s equal to infinity?

Right- angled
Convex to origin
Concave to origin
Straight line

e s bl =

Options:

19088965561. 1
19088965562. 2
19088965563. 3
19088965564. 4

Question Number : 77 Question Id : 19088916418 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following theory believes in the concept of high tariffs?

1. Physiocracy

2. Mercantilism

3. Classical theory

4. Neo- classical theory

Options:

19088965565. 1
19088965566. 2
19088965567. 3
19088965568. 4

Question Number : 78 Question Id : 19088916419 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following 15 correct with respect to the relation between AC and MC curves?

The two curves are parallel to each other

AC curve cuts the MC curve at its lowest level
MC curve cuts the AC curve at 1ts lowest level
The two curves are independent to each other

des ao )

Options:

19088965569. 1
19088965570. 2
19088965571. 3
19088965572. 4

Question Number : 79 Question Id : 19088916420 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which among the following 1s known for the *SHG Bank Linkage Programme”?

1. International Finance corporation
2. World Bank

3. NABARD

4. Asian Development Bank

Options:

19088965573. 1
19088965574. 2
19088965575. 3
19088965576. 4

Question Number : 80 Question Id : 19088916421 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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The underlying theme of the Porter Diamond 1s

1. Comparative advantage
2. Absolute advantage

3. Trade-off

4. Competitive advantage

Options:

19088965577. 1
19088965578. 2
19088965579. 3

19088965580. 4

Question Number : 81 Question Id : 19088916422 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following does NOT form a segment in the current account of balance of
payments’

Exports

Balance of trade
Invisibles

FDI

Ju Lo b

Options:

19088965581. 1
19088965582. 2
19088965583. 3
19088965584. 4

Question Number : 82 Question Id : 19088916423 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Which among the following 1s known for started a new direct lending facility under

‘Umbrella Programme for the Natural Resource Management (UNPRM)?

International Fiance corporation
World Bank

NABARD

Asian Development Bank

= Lo b

Options:

19088965585. 1
19088965586. 2
19088965587. 3
19088965588. 4

Question Number : 83 Question Id : 19088916424 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

When the goods are nelastic i nature, which of the following experiences the high mcidence of
taxation?

Consumer

Producer

Neither consumer nor producer
Dafficult to assess

4= o o =

Options:

19088965589. 1
19088965590. 2
19088965591. 3
19088965592. 4

Question Number : 84 Question Id : 19088916425 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ]
gcollegedunlaa
India’s largest Student Review Platform

el



Which of the following 1s NOT the canons of taxation as per the theories of Adam Smith?

1. Equality
2. Certanty
3. Convenience
4. Accessibility

Options:

19088965593. 1
19088965594. 2
19088965595. 3

19088965596. 4

Question Number : 85 Question Id : 19088916426 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Nationalization of banks in India was done with objective of
A. Bringing social control

B Catering to needs of industrialists

C. Expansion of credit to agriculture sector

D. Elimination of bank credit for speculative purpose

1. A .BandC

2. A.CandD

3. A .BandD

4. B.CandD
Options:

19088965597. 1
19088965598. 2
19088965599. 3

19088965600. 4

Question Number : 86 Question Id : 19088916427 Question Type : MCQ Option Shuffling : No
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Correct Marks : 4 Wrong Marks : 1

Among the given principles of credit. which one is related with technology?

Principle of Personality
Principle of phased disbursement
Principle of Payment

Principle of Productivity

N S R

Options:

19088965601. 1
19088965602. 2
19088965603. 3
19088965604. 4

Question Number : 87 Question Id : 19088916428 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s not among the assumptions of Linear Programming (LP) Problem

1. Infiniteness of resources

2. Non-negativity of decision variables
Proportionality of activities

4. Additivity of resources

L

Options:

19088965605. 1
19088965606. 2
19088965607. 3

19088965608. 4

Question Number : 88 Question Id : 19088916429 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Iso-revenue line 1s also known as

Ridge Line
Budget Line
Price Line
Isochine

du Lo b

Options:

19088965609. 1
19088965610. 2
19088965611. 3
19088965612. 4

Question Number : 89 Question Id : 19088916430 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the expression for net profit?

1. Total Revenue — Explicit cost

2. Total Revenue — Implicit cost

3. Total Revenue - Total cost

4. Total Revenue - Opportunity Cost

Options:

19088965613. 1
19088965614. 2
19088965615. 3

19088965616. 4

Question Number : 90 Question Id : 19088916431 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Depreciation will NOT be charged on

Tractor
Heifer
Building

Plough

I =

o L)

Options:

19088965617. 1
19088965618. 2
19088965619. 3
19088965620. 4

Question Number : 91 Question Id : 19088916432 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the cost curve touches more near to X-axis

1. Average Variable Cost (AVC)
2. Average Total Cost (ATC)

3. Total Cost (TC)

4. Margial Cost (MC)

Options:
19088965621. 1
19088965622. 2

19088965623. 3

19088965624. 4

Question Number : 92 Question Id : 19088916433 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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When two products are substituting at a decreasing rate, the production possibility curve 1s

Convex to origin

Concave to origin
Parallel to X-axis
Parallel to Y-axis

bt =

o

Options:

19088965625. 1
19088965626. 2
19088965627. 3

19088965628. 4

Question Number : 93 Question Id : 19088916434 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Unsecured loan 1s

1. Intermediate asset

2. Intermediate liability

3. Long term asset

4. Long term hability
Options:

19088965629. 1
19088965630. 2
19088965631. 3
19088965632. 4

Question Number : 94 Question Id : 19088916435 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Identify the correct combination of Five Cs of Credit

1. Character, Capacity. Commitment. Condition. Commonsense
2. Character. Capacity. Commitment. Caution. Commonsense
3. Character, Capacity. Capital. Condition. Commonsense

4. Character. Caution. Commuitment. Condition. Capacity

Options:

19088965633. 1
19088965634. 2
19088965635. 3
19088965636. 4

Question Number : 95 Question Id : 19088916436 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

At 25 kgs of fertilizer dose application. a farmer obtains maximum groundnut production of
1500 kgs per hectare. What will be the elasticity of production (ep) at that pomnt?

0
1
0.60
0.90

o T bd

Options:

19088965637. 1
19088965638. 2
19088965639. 3
19088965640. 4

Question Number : 96 Question Id : 19088916437 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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To overcome the problem of unit elasticity of substitution in Cobb Douglas Production function.
which function 1s used?

Variable Elasticity of Substitution (VES) function
Constant Elasticity of Substitution (CES) function
Balmukand or Resistance function

Spillman function

e R -

Options:

19088965641. 1
19088965642. 2
19088965643. 3

19088965644. 4

Question Number : 97 Question Id : 19088916438 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which 1s NOT a characteristic of Cobb Douglas function?

1. Slope of MP 1s negative

2. Asymptotic 1soquants

3. Isoclines are scale lines

4. Maxima i1s defined
Options:

19088965645. 1
19088965646. 2
19088965647. 3

19088965648. 4

Question Number : 98 Question Id : 19088916439 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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In which function ridgelines are represented by axes

Quadratic function
Linear function

Square root function
Cobb Douglas function

| S

= L

Options:

19088965649. 1
19088965650. 2
19088965651. 3

19088965652. 4

Question Number : 99 Question Id : 19088916440 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If MP = AP, then Elasticity (ep) 1s equal to

1.

2. 1

< A |

4. >
Options:

19088965653. 1
19088965654. 2
19088965655. 3
19088965656. 4

Question Number : 100 Question Id : 19088916441 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
When MPP i1s zero

TPP declines
APP 1s negative
3. APP 1s positive
TPP 1s maximum

| S

o
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Options:

19088965657. 1
19088965658. 2
19088965659. 3

19088965660. 4

Question Number : 101 Question Id : 19088916442 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Perfect Elasticity 1s shown by:
1. Vertical straight line
Horizontal straight line

Slopping curve right to left
Slopping curve left to right

B oW

Options:

19088965661. 1
19088965662. 2
19088965663. 3
19088965664. 4

Question Number : 102 Question Id : 19088916443 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Sufticient condition of farm efficiency is generally referred to as choice indicator because it:

Is a valid criterion of the assumption of certainty

Is consistent with the choices made under perfect competition
Is consistent with the welfare increase to the farming population
Helps to make allocation compatible with the given objectives

e faa bd

Options:
19088965665. 1
19088965666. 2
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19088965667. 3

19088965668. 4

Question Number : 103 Question Id : 19088916444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following assumptions are required to show the consistency, unbiasedness and
efficiency of the OLS estimator?

A . E(w)=0

B. Var(w) = o’
C.Cov(u,u,)=0andj
D. u~ N(0. ¢7)

Choose the correct answer from the options given below:

B and D only

A and C only

. A.Band C only
. A.B.CandD

= o b

Options:

19088965669. 1
19088965670. 2
19088965671. 3
19088965672. 4

Question Number : 104 Question Id : 19088916445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s NOT an example of mis-specification of functional form?

1. Using a linear specification when 'y' scales as a function of the squares of 'x’

2. Using a linear specification when a double-logarithmic model would be more appropriate
3. Modelling y as a function of x when n fact it scales as a function of 1/x

4. Excluding a relevant variable from a linear regression model
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Options:

19088965673. 1
19088965674. 2
19088965675. 3

19088965676. 4

Question Number : 105 Question Id : 19088916446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

There are several reasons for serial correlation to occur in a sample data. Which of these 1s NOT?

1. Non Stationary data
2. Spectfication bias

. Stationary data series
. Time sertes data

s e

Options:

19088965677. 1
19088965678. 2
19088965679. 3
19088965680. 4

Question Number : 106 Question Id : 19088916447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following 1s NOT a plausible remedy for near multicollinearity?

1. Use principal component analysis

2. Take logarithms of each of the vanables
3. Use a longer run of data

4. Drop one of the collinear variables

Options:

19088965681. 1
19088965682. 2
19088965683. 3
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19088965684. 4

Question Number : 107 Question Id : 19088916448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which techniques 1s generally followed when the population 1s finite ?

1. Convenience Sampling Technique
2. Area Sampling Technique

3. Purposive Sampling Technique

4. Systematic Sampling Techniques

Options:

19088965685. 1
19088965686. 2
19088965687. 3

19088965688. 4

Question Number : 108 Question Id : 19088916449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A research mntends to explore the result of possible factors for the orgamization of effective mid-
day meal interventions. Which research method will be most appropriate for this study?

1. Ex-post facto method

2. Ex-ante Evaluation method
3. Historical Method

4. Experimental Method

Options:

19088965689. 1
19088965690. 2
19088965691. 3
19088965692. 4

Question Number : 109 Question Id : 19088916450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
gcollegeduniaa
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Correct Marks : 4 Wrong Marks : 1

Which of the following 1s NOT a part of the New Farms Act 20207

1. The Farmers (Empowerment And Protection) Agreement On Price Assurance And Farm
Services Act, 2020

The Farmers Protection Act, 2020

Farmers’ Produce Trade and Commerce (Promotion and Facilitation) Act,2020

The Essential Commodities (Amendment) Ordinance, 2020

o

Options:

19088965693. 1
19088965694. 2
19088965695. 3
19088965696. 4

Question Number : 110 Question Id : 19088916451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

"When the elasticity of supply 1s less than that of demand (E; < E;) the extent of the effect of the
change in the market price on supply volumes will be less than that on demand" could be
explamned by -

Convergent cobweb
Divergent cobweb
Mono cobweb

Dule Cobweb

e Lo g

Options:

19088965697. 1
19088965698. 2
19088965699. 3
19088965700. 4

Question Number : 111 Question Id : 19088916452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Match List I with List IT

List I List II
Market Integration
2 Example
A. Backward vertical I. Company produces all input from its own operations and
mtegration disposes of all products through its own outlets.
B. Forward vertical I1. The company can use other suppliers for inputs or independent
mtegration outlets m addition to company-owned outlets.
C. Full Integration III Company eXpandsi its operations into an industry that produces
wnputs to the company's products
. IV. Company expands into an mdustry that uses, distributes, or
D. Taper Integration 4 p, Y
sells the company’s products,

Choose the correct answer from the options given below:

A-ILB-LC-IV.D-II
A-TML.B-IV.C-1.D-1I
A-ILB-LC-IL.D-IV
A-I.B-IV.CI-.D-II

g R Il e

Options:

19088965701. 1
19088965702. 2
19088965703. 3
19088965704. 4

Question Number : 112 Question Id : 19088916453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one 1s NOT major aspect of the Firms Conduct of market structure?

1. The number of buyers and sellers

2. The degree of product homogeneity

3. The existence of economise of scale

4. The existence and degree of barriers to entry
Options:

19088965705. 1
19088965706. 2
19088965707. 3
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19088965708. 4

Question Number : 113 Question Id : 19088916454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Regular or average agricultural product price pattern occurring within a year 1s called-

Price secular trends
Price uregular trends
Price Seasonality
Long Price trends

B e

Options:

19088965709. 1
19088965710. 2
19088965711. 3

19088965712. 4

Question Number : 114 Question Id : 19088916455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which model 1s NOT used in the study of Market Integration analysis?

1. Granger Causality Test
Ravallion's Model

| )

3. Timmer model
4. Link Relative method
Options:

19088965713. 1
19088965714. 2
19088965715. 3

19088965716. 4

Question Number : 115 Question Id : 19088916456 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

'SMART in Project Management stands for -

1. Specific. Measurable. Attainable, Relevant, Timebound
2. Services. Measurement. Account. Relevant, Technology
3. Specific. Measurable. Account. Relevant. Technology

4. Services. Measurable. Attainable, Relevant. Timebound

Options:
19088965717. 1
19088965718. 2

19088965719. 3

19088965720. 4

Question Number : 116 Question Id : 19088916457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The charts, which include negative states perceived as problems are displayed i such a way as
to highlight the cause-and-effect linkages between the different problems, this exercise will
resultma -

Objective tree
Strategic tree
Problem tree
Project cycle

.__;.—

= ow

Options:

19088965721. 1
19088965722. 2
19088965723. 3
19088965724. 4

Question Number : 117 Question Id : 19088916458 Question Type : MCQ Option Shuffling : No
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statement related to scope verification and quality control of project 15
correct?

. Quality control deals with acceptance of products

Scope venification can be done in parallel with quality control
Scope verification should not be done if the project 1s terminated
Scope verification and quality control are very sinular process

= o b =

Options:

19088965725. 1
19088965726. 2
19088965727. 3

19088965728. 4

Question Number : 118 Question Id : 19088916459 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A project has a critical path of twenty-three weeks. What 1s the impact on the duration of the
critical path 1f the management wants to complete the project i twenty weeks?

Increases by three weeks
Decreases by three weeks
Remains the same
Cannot be determined

de o b

Options:

19088965729. 1
19088965730. 2
19088965731. 3
19088965732. 4

Question Number : 119 Question Id : 19088916460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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‘Eco Mark’ 1s given to the Indian products that are

1. Rich in Proteins

2. Environment Friendly

3. Pure and unadulterated

4. Economically viable
Options:

19088965733. 1
19088965734. 2
19088965735. 3
19088965736. 4

Question Number : 120 Question Id : 19088916461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

On which date three new Farm Bills became an Act?

1. 20" September. 2020

2. 25 September. 2020

3. 27" September. 2020

4. 3™ October. 2020
Options:

19088965737. 1
19088965738. 2
19088965739. 3
19088965740. 4
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